4.2 Compound Angle Formulas-
Addition and Subtraction

Compound Angle:
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Coordinates of Q: (cos aq, sin a)
Use the cosine law to find "c":

(% ,97) ‘ N & =12 +12 —2(1)(T)cos(a — b)
\

5 Xy ¢’ =2—-2cos(a—b)
o (Cosa,sina)

b} R
Use the distance formula to "c": 2= (W) ((3243\\
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Equating the two expressions for c2:
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cos(a—b) =sinasinb + cosacosh

Our first compound angle formula



Now, let's determine:
I cos(a+b)
@ Substitute "-b" for "b":
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I Use the cofunction identity sing = cos|

un
o+

Vo ws ust\ cos (A~ @3

= S\v\(,—_q Smb-&- CO5(5:-% Cosb
= cos ASND + Sina cosh
S (A*BB = C.OSAQ-;\ﬁE-(-S\\f\ACEs%

= C.OSACOS&“ §|r\ﬂ‘§ U'\&

IIT tan(a+b)
Y¢ use tan= sing :
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Find sin(a-b) and tan(a-b) tonight at home



tana -tanb Van (a+b)= tana+tanb
"1+tanatanb 1-tanatanb

A Different Proof:

From Home: Development of sin(a+b) and cos(a+b):
http://www.youtube.com/watch?v=zwOwaJCEc-wé&feature=relmfu
http://www.youtube.com/watch?v=V3-xCPDzQ1Q
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